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NEW QUESTION 1

Core# configure terminal
Core(config)# vrf Green
Core(config-vr)# exit
Core(config)#

Core(config)# interface vlan 50
Core(config-if-vlan)#

?

Given the configuration on the CORE switch shown above, what command would follow to assign the switched virtual interface (SVI) vlan 50 to the VRF created?

A. Core(config-if-vlan)# vrf attach Green

B. Core(config-if-vlan)# ip vpn-instance Green
C. Core(config-if-vlan)# ip vrf forwarding Green
D. Core(config-if-vlan)# routing-context Green vrf

Answer: A

NEW QUESTION 2

What is the binary conversion of the hexadecimal value 0x2001?

A. 0010 0001

B. 0002 0000 0000 0001
C. 0011 0000 0000 0001
D. 0010 0000 0000 0001

Answer: D

NEW QUESTION 3

Which statement is correct regarding powering an Aruba Access Point?

A. PoE or PoE+ is only used with Ethernet that is carried over multi-mode fiber cabling.

B. Using switchports for this reason is unnecessary, because Aruba Access Points typically use an AC to DC power adapter to draw power.
C. PoE or PoE+ enabled switchports are rarely used given concerns about causing electrical interference, with the data also carried over Ethernet cabling.

D. Most administrators use PoE or POE+ enabled switchports to provide both Ethernet connectivity and power to the AP.

Answer: D

NEW QUESTION 4

What are the benefits of a 3-Tier design over a 2- Tier? (Choose two.)

A. Offloading processing from the Core without routing at the Access layer.

B. Can use lower speed links between Core to Aggregation and Aggregation to Access given the use of an Aggregation layer.

C. Lowering the cost of a deployment due to needing less switches overall.
D. Better scalability in a campus with a large number of buildings.
E. Gaining the flexibility to connect the Data-Center to any Access layer switch.

Answer: AD

NEW QUESTION 5
Refer to the exhibit.

: DEFAULT VLAN 1
10 Sales

20 Service

30 Customer

Which command produces the above output?
A. show interface port 1/1/10 trunk

B. show vlan port 1/1/10

C. show trunk port 1/1/10 extended

D. show interface port 1/1/10 switchport

Answer: C

NEW QUESTION 6

native-untagged
trunk
trunk
trunk

Which two port characteristics must match between LAG interfaces? (Choose two.)

A. Port number
B. Duplex

C. Member ID
D. Media type
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E. Chassis number
Answer: BD

NEW QUESTION 7
Refer to the exhibit.

Core-1 Port 1/1 Core-2 Port 1/2

10.1.1.1/30 10.1.1.2/30
v
f'; H"u\
Core-1 e E Core-2
’\x Core-2 Port 1/3
“10.1.20.181/24
510.1.20.1/24

C —

Traffic is failing between Core-1 and Host-B. IP addressing has correctly been applied, and all interfaces are attached to the vif GREEN. Which configuration will

correct the issue?

A. Core-2(config)# ip route 0.0.0.0/0 10.1.1.1 vif GREEN Host-B: assign the default-gateway address 10.1.20.181

B. Core-1(config)# ip route 10.1.20.0/24 10.1.1.2 vrf GREENHost-B: assign the default-gateway address 10.1.20.181
C. Core-1(config)# ip route 10.1.20.0/24 10.1.1.2 vif GREENHost-B: assign the default-gateway address 10.1.20.1
D. Host-B: assign the default-gateway address 10.1.20.181

Answer: B

NEW QUESTION 8
Refer to the exhibit

Access-1 (confiq) § show wvlan

VLAN Name Status Reason Type Interfaces
1 DEFAULT VLAN 1 up ok default 1/1/1-1/1/28
20 Engineering down no member port static

What is true regarding VLAN 50 according to the diagram above?

A. VLAN 50 is part of a switched virtual interface (SVI) that was never routed causing it to be down.
B. Since VLAN 50 has not been assigned to any enabled physical port, the status is down.

C. VLAN 50 is assigned only to Trunk ports which is why no ports are listed under interfaces.

D. VLAN 50 was never added to the vlan-database and therefore is in a down state.

Answer: B
NEW QUESTION 9

DRAG DROP
Match the term to the correct description.

Term Description
BGP used for creating backup routes by implementing a
higher administrative distance
Floating

_ a distance vector protocol
Static Routes

an ipv4 link-state routing protocol that runs within

OSPFv2
an Autonomous System
OSPFv3 used to route traffic between Autonomous Systems
RIPv2 a routing protocol capable of routing IPv6 packets
A. Mastered

B. Not Mastered
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Answer: A
Explanation:
Term
Floating
BGP ;
Static Routes
Floaj(lng RIPV2
Static Routes
OSPFv2 OSPRv2
OSPFv3 BGP
RIPvZ OSPFv3

NEW QUESTION 10
You have completed a successful VSF stack between two switches.
Without manually assigning a backup switch, what is the expected output when issuing a show vsf command?

A.

T1-6300-A# show vsf
<omitted >

Mbr Mac Address

1 88:3a:30:a3:e5:40
2 88:3a:30:a6:d9:80

T1-6300-A# show vsf
<omitted>

Mbr Mac Address

1 88:3a:30:a3:e5:40
2 88:3a:30:a6:d9:80
T1-6300-A# show vsf
<omitted>

Mbr Mac Address

1 88:3a:30:a3:e5:40
2 88:3a:30:a6:d9:80
T1-6300-A# show vsf
<omitted>

Mbr Mac Address

1 88:3a:30:a3:e5:40
2 88:3a:30:a6:d9:80

Answer: D

NEW QUESTION 10
What are two methods for remotely managing an Aruba AOS-CX switch? (Choose two.)
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JL660A
JL660A

JL660A
JL660A

JL660A
JL660A

JL660A
JL660A

Description

used for creating backup routes by implementing a
higher administrative distance

a distance vector protocol

an ipv4 link-state routing protocol that runs within
an Autonomous System

used to route traffic between Autonomous Systems

a routing protocol capable of routing IPv6 packets

Status ID

Commander
Secondary

Status ID

Primary
Secondary

Status ID

Master
Member

Status ID

Master
Standby
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A. SNMPv2c

B. HTTPS

C. USB-C console
D. Telnet

E. SSHCorrect

Answer: BE
NEW QUESTION 12

HOTSPOT
Click on the colored box that corresponds with the line that best represents Broadcast traffic flow.

Hot Area:

Answer Area

C —r o | C = TC —r 9 C — = = —v |
| | |

A. Mastered

B. Not Mastered

Answer: A

Explanation:

Answer Area

C — " | C — w | = —r =1 C —> 3C ——r = |

[ | [ |

NEW QUESTION 16

Refer to the exhibit.

SWl# show wvlan
VLAN . . . SLALME o SEASON '] L Interfaces
1 DEFAULT VLAN 1 up ok default <output omitted>
10 Engineering up ok static 1/1/1=-1/1/7

20 Guest up ok static 1/1/11-1/1/14

The above command was applied to an Aruba AOS-CX 6300M 24-port switch with 4-port SFP56 uplinks. All ports are set as access switchports. Which ports carry
VLAN 1 traffic?

A. 1/1/8, 1/1/10, 1/1/5-1/1/24
B. 1/1/1-1/1/28
C. 1/1/1-1/1/24
D. 1/1/8-1/1/10, 1/1/5-1/1/28

Answer: D

NEW QUESTION 17
Which two commands will save the running-config so that changes will be loaded automatically on the next reboot? (Choose two.)

A. write memory

B. save

C. copy config configl config startup-config
D. copy running-config startup-config

E. copy running-config checkpoint boot-config
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Answer: AD

NEW QUESTION 22
Which two options are correct regarding the IEEE 802.11ax standard? (Choose two.)

. allows transmissions of up to 4.8Gbps

. Is an emerging satellite connection standard to allow wireless access anywhere in the world
. operates only in the 5GHz similar to 802.11ac

. operates in both the 2.4GHz and 5GHz radios bands

. is the first WLAN standard to no longer use electromagnetic signals to transmit data

mooO P

Answer: AD

NEW QUESTION 23
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